





- PDF

e # PDF file
— pdf.graph(file="test.pdf", c
—# commands

— dev.off() #

o # JPEG file
— graphsheet(format="JPG', file="plot##.jpg")
—# commands
— dev.off() #




— graphsheet(format="printer"
—# commands

— dev.off() #

o # 1 1x3
— par(mfrow=c(1,3))




 poxplot( XXXXX , xlab="XXXXXX" , ylab="")

 boxplot(split( AGE , SEX) , xlab="SEX" ,
ylab="AGE" )

e stem(

o hist( wkcat2 ,xlab=1,ylab=




o hist(x, breaks=c( lis
probability=TRUE)

¢ 2

 plot(B12, DE23, xlim=c(lo, hi), ylim=c(lo, hi) )




e graph

e 45
 abline(0, 1, Ity =1)

Y =0
o abline(v=0, Ity = 2)
e abline(h=0, Ity = 2)




2
« abline(Isfit(x,y))

 legend

* legend(locator( 1), c("Placebo", "Active" ), Ity=1:2)

e graph
o title(main=" " sub=" " xlab="X
ll’ylab:llY n




e SAS to S-plus
— SAS detaset










